‘ DUNCAN MODEL EA 124

PART
NQ.
KM 332
KM 329
KM 331
KM 349
KC 163
KM 383
KM 284
KM 350
KE 315
KE 234
KE 314
KE 322
KE 333
KE 308
KC 168
KC 166
KC 395
KC 162
KC 369

DESCRIPTION

DELAY TIMER MODULE {120V)
POWER RELAY

FIXED INFINITE SWITCH (120V)
CORD STRAIN RELIEF

PILOT LIGHT ASM

4" FIBERGLASS SLEEVING

6" FIBERGLASS SLEEVING
POWER SUPPLY CORD

#10-32 X 1/2° TAMPERPROOF SCREW

#10-32 HEX NUB W/WASHER
#6-32 x 1/2* MACHINE SCREW
#6 STAR WASHER

#6-32 HEX NUT

#8-32 x 1/4* MACHINE SCREW

6" CONNECTING WIRE, 16 GAUGE
4" CONNECTING WIRE, 16 GAUGE

6.4 WIRE COMBO, 16 GAUGE

6" CONNECTING WIRE, 12 GAUGE
6* CONNECTING WIRE, 12 GAUGE

OOEE

CONTROL PANEL PARTS

ON

O,
0OBE

[
o

\

\ .~

7/

H1

L2

H2

d

B

@?L‘?é

ELECTRICAL SCHEMATIC

e
—

N O SR

c

PLOT LGHT

AN HEN-SITIER

DLLAT TulR

‘1

-

[ 5 Sl pA

71

HERING CLEWTHTS




